

$$\frac{\mu_{x\omega}}{\rho_{x\omega}} + \mu \frac{\mu_{xy}}{\omega_{xy}} = \frac{\rho_0}{\mu_0} + \mu \frac{1\Lambda}{\mu_0} = \mu \frac{\mu\Lambda}{\mu_0} = \mu + 1 \frac{\Lambda}{\mu_0} = \mu \frac{\Lambda}{\mu_0}$$

$$\mu \frac{\mu_{x\mu}}{\rho_{x\mu}} - \frac{\mu_{xy}}{\mu_{xy}} = \mu \frac{1\mu}{\mu\mu} - \frac{1\mu}{\mu\mu} = \mu$$

$$\frac{\mu}{\mu} \times \mu \frac{\mu}{\mu} = \frac{1}{1} \times \frac{\Lambda}{\mu} = \frac{\mu}{1} = \mu$$

$$\mu \frac{\mu}{\rho} \div \frac{1}{\mu} = \frac{\mu\mu}{\rho} \div \frac{1}{\mu} = \frac{\mu\mu}{\rho} \times \frac{\mu}{1} = \frac{\mu\mu}{\rho} = \mu \frac{\mu}{\rho}$$

$$\omega \frac{1}{\mu_{xy}} + \mu \frac{\mu}{\rho} = \omega \frac{\mu}{\rho} + \mu \frac{\mu}{\rho} = \mu \frac{\rho}{\rho} = \mu + 1 = \mu$$

$$\rho \frac{\mu_{x\omega}}{\mu_{x\omega}} - \mu \frac{\mu_{x\mu}}{\omega_{x\mu}} = \rho \frac{1_0}{\mu_0} - \mu \frac{1\mu}{\mu_0} = \omega \frac{\mu_0}{\mu_0} - \mu \frac{1\mu}{\mu_0} = \mu \frac{1\Lambda}{\mu_0}$$

$$\mu \frac{\mu}{\Lambda} \times \mu \frac{\mu}{\mu} = \frac{\mu\Lambda}{\mu\Lambda} \times \frac{1\Lambda}{\mu} = \frac{\mu\mu}{\mu} = 1 \omega \frac{\mu}{\mu}$$

$$\frac{\mu}{\mu} + \mu + 1 \frac{\mu}{\mu} = \mu \frac{\mu_{x\mu}}{\mu_{x\mu}} + \frac{\mu_{x\mu}}{\mu_{x\mu}} = \mu \frac{\mu}{\mu} + \frac{1\mu}{\mu} = \mu \frac{\mu\mu}{\mu} = \mu + 1 \frac{\omega}{\mu} = \mu \frac{\omega}{\mu}$$

$$\omega - \mu \frac{\mu}{\mu} = \mu \frac{\mu}{\mu} - \mu \frac{\mu}{\mu} = 1 \frac{1}{\mu}$$

$$\frac{4}{\sqrt{5}} \times \frac{2}{3} = \frac{4}{\sqrt{5}} \times \frac{1 \cdot 2}{3} = \frac{\sqrt{1} \cdot 2}{3 \cdot 5} = \frac{2\sqrt{1}}{15}$$

$$\frac{4}{\sqrt{1}} \div \frac{2}{3} = \frac{4}{\sqrt{1}} \div \frac{2}{3} = \frac{4}{\sqrt{1}} \times \frac{3}{2} = \frac{12}{2}$$

$$\frac{2}{9} \div \frac{2}{5} = \frac{2 \cdot 2}{9} \div \frac{2}{5} = \frac{2 \cdot 2}{9} \times \frac{5}{2} = \frac{2 \cdot 2}{1 \cdot 9} = \frac{4}{9}$$